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What is the true meaning of “secular”?

a) All religions

b) Special

¢) One religion

d) None of the

are equal in the | importance to a | is promoted by | following
eyes of the | religion related | the government A
government to minorities
Match items in List — I with items in List — II and choose the correct
answer from the code given below:
List I List IT
A Macdonald 1. Doctrine of Lapse
B Linlithgow 2. Communal Award
C Dalhousie 3. August offer
D Chelmsford 4. Dyarchy
Codes;
a)A-3 b) A-3 c)A-2 d) A-2
B-2 B-2 B-3 B-3 C
C-1 C-4 C-1 C-4
D-4 D-1 D-4 D-1
Identify the True statement from the following;
a) The term b) The ¢) ‘World d) Laissez-
“mixed headquarter of | Bank’ is also faire is a
economy”’ RBI is situated | known as feature of
denoted at Delhi. international communism.
existence of Bank for C
both rural and reconstruction
urban sectors. and
development.
Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
A: Assertion: Polar areas have high atmospheric pressure.
R: Reason: These areas receive minimum sunshine throughout the
year.
Codes:
a) BothAand |b)BothAandR | c) A is true, but | d) Ais false, but
R true and R is | trueand Risnot | R is false R is true
the correct a correct C
explanation of | explanation of
A A
What is ‘Green House Effect’?
a) Increase in b) Decrease in | ¢) Increase in d) Increase in
global global sea water temperature of A
temperature temperature temperature rivers and lakes
Which kind of adverb is the word in capitals? - "Mothers look | Answer
GENTLY at their babies." option

(b)




a) Adverb of | b) Adverb of |c) Adverb of |d) Adverb of Answer
Time/Frequenc | Manner Degree Place
y
7 1) Add the correct punctuation mark(s): Answer
Wow Look at the flowers option
(©
a) !,. b) ., ! c) ! d) 72,! Answer
8 Choose the correct option to the underlined word. Answer
I wish you good luck. Option
(d)
a) Subject b) Direct Object | ¢) Verb d) ' Indirect Answer
object
9 Identify the type of sentence: Answer
Although the sport is new, it has already attracted six collegiate teams | Option
in the Southeast. (b)
a) Simple | b) Complex | c) Compound | d) None of
Answer
sentence sentence sentence these
10 | Match the phrase to its meaning and select the correct code from | Apgwer
options below; Option
A) TO SEE RED i. Made the audience applaud (d)
enthusiastically
B) AT ONE'S FINGERTIPS ii. Willingness to do something
instantly
C)BRING THE  HOUSE | iii. Complete knowledge
DOWN
D) AT THE DROP OF A HAT | iv. To find fault with
Codes:
a) A-iii, B-iv, | b) A-i, B-ii, C- | ¢) A-ii, B-i,, C- | d) A-iv, B-iii,
C-i, D-ii iii, D-iv iv, D- iii C-i, D-ii
11 | Which Indian organization recently tested successfully a new kind of
battery Silicon High energy Li-ion cell, featuring a Si-Graphite
composite as anode material?
a) ISRO b) DRDO c¢) Tata Institute | d) Saha
of Fundamental | Institute of A
Research Nuclear
Physics
12 | Match List I with List II:
List I List IT
A UPAJ 1 Buddhism
B. Vaisakh Purnima i1 Festival of Innovation in Arts
C. Monpa Handmade | iii Tripura
Paper making art
D. Kharchi Puja iv Arunachal Pradesh
Choose the correct answer from the options given below:
a)A-iii, B-iv,C- | b)A-ii,B-1,C- ¢)A-1,B-ii,C-iii, | d)A-iv,B-ii,C- B
1,D-ii iv,D-iii D-iv 1,D-iii
13 | Where was the Centre of Excellence (CoE) on E-waste Management

inaugurated?




a)  C-MET, [ b) C-MET, ¢)  C-MET,[d)  C-MET,

Hyderabad Mabharashtra Thrissur Lucknow
14 | What is the official slogan of the 9th Asian Winter Games?
a) Winter | b) Unity in|c) Dream of|d) Play in
Wonderland Diversity Winter, Love | Winter
among Asia
15 | Identify the correct statement
A. Rajesh Kumar is the current CEO of the Indian Cyber Crime
Co-ordination Centre(14C)
B. Jharkhand state has launched an app based electric bike taxi
service called ‘Baayu’.
C. Ministry of Road Transport and Railways is responsible for the
PM- e Bus Sewa Scheme
D. The projected global unemployment rate for the year 2024 is
5.2%
a)Aand B b) Band C ¢)Aand D d) All of these.
16 | Anil after travelling 6 km towards East from his house realized that he
has travelled in a wrong direction. He turned and travelled 12 km
towards West, turned right and travelled 8 km to reach his office. The
straight distance of the office from his house is:
a)14 km b) 12 km ¢) 20 km d) 10 km
17 | The next term in the series 2, 5, 10, 17, 26, 37,7 is:
a)50 b) 72 c) 42 d) 62
18 | A group of 210 students appeared in some test. The mean of 1/3rd of
students is found to be 60. The mean of the remaining students is found
to be 78. The mean of the whole group will be:
a) 76 b) 80 c) 70 d)72
19 | In a class of 30 students, 18 are girls. What percentage of the class are
boys?
a)10% b) 20% c) 30% d) 40%
20 | In atriangle, the sum of the angles is always degrees
a)360 b)140 ¢)90 d)180
21 | Which type of research aims to describe a social situation, social event,
social system, social structure etc.
a) Basic | b) Descriptive | ¢c)Empirical d)Explanatory
Research Research Research Research
22 | Identify the correct sequence in social research:
Report writing
i) Report Writing
i) Data analysis

iii) Pilot study




iv)

Formation of hypothesis

V) Null Hypothesis

vi) Observation
a) N .iV,V, b) i, iv,i.ii.vi,v o)i,it,iiLiv,v,vi | d)vi,v,iv,iii,ii,1
111,Vi,1i,1

23 | Which of the following statements is true or false?
A) If the sample size is small, then the results derived from them will
be accurate and precise.
B) For an intensive study, large samples are useful and suitable.
Bameeue | st | O O e

but(B)is false

24 | Given below are two statements: One is labelled as Assertion (A) and
the other is labelled as Reason (R).
A: Assertion: A research hypothesis (H1), has to be tested with the help
of a Null hypothesis called (HO).
B: Justification: Tenability of research hypothesis (H1) cannot be
directly affirmed. In the light of the above statements, choose the most
appropriate answer from the options given below
a) Both (A) and | b) Both (A) and | ¢) (A) is correct | d) (A) is not
(R) are correct | (R) are correct | but (R) is not | correct but (R)
and (R) is the | but (R) is NOT | correct is correct
correct the correct
explanation of | explanation of
(A) (A)

25 | To perform t-test which of the following softwares can be utilized?
(A) MS Excel
(B) Unix
(C) SPSS
(D) MS Equations
Choose the most appropriate answer from the options given below:
a)(A) and (B) | b)(B), (C) and | ¢)(A) and (C) | d)(A), (C) and
only (D) only only (D) only

26 | The median of the data 3, 7, 2, 11, 4 and 9 is:
a)5 b) 5.5 c)6 d) 6.5

27 | What does objectivity mean in social research?
1. Accounts for external world
2. Accounts for internal world
3. Represent the world as it exists
4. Independent of our conceptions
a) 1,2.3 b)2, 3.4 c)1,2,4 d)1,3,4

28 | Which one of the following does not come under the methods of data

classification?




a) Quantitative.

b) Qualitative

c)Normative d)Spatial

29 | Type Questions here for matching pairs:

A Fundamental Research )] to find solutions to
problems faced by
practitioners

B Applied Research i) To  identify  right
practices on the basis of
established theory

C Action Research iii) To establish concepts,
principles, and theories

D Case study iv) To study individuals in
detail

a) A-iii, B-ii, C | b) A-iv B-ii, C- | ¢) A-ii B-iv C- | d) A-i B-ii C-
-1, D-iv iv D-iii iii D-i iii D-iv
30 | What is the full form of the Software SPSS?
a)Scientific b)  Statistical | ¢)Special d)Statistical
Program  for | package for | Program  for | package for
Social Survey | Scientific Social Security | Social Sciences
Survey
31
The precondition to qualify a sample as a random one is
b) The
researcher must | C) At least d)Every
a) The conduct  pilot | 100 member of the
researcher must | study respondents population
pretest the must be se-| musthavean
subject lected from a | equal chance of
given being selected
population
32
The problem of ‘research ethics’ is concerned with which aspect of
research activities?
a) Evidenc | b) Followi | c) Data analysis | d)Defining the
e based | ng the | through population  of
research prescribed qualitative research
reporting format of a | orquantitative
thesis techniques
33 | Which of the following statements is true in the context of the testing
of a hypothesis?
a)lt is only the | b)Both, the | ¢) Both, the | d) It is only the
null hypothesis, | alternative and | alternative and | alternative
the null | the null
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that can Dbe | hypotheses can | hypotheses hypothesis, that
tested be tested. cannot be | can be tested
tested.
34 | What is not a one of the major causes of income inequality in India?
a)Unequal b)Lack of c)Gap between | d)Increase in
distribution of fertile land rich and poor population
land
35 | Which of the following statements about crime and deviance is false?
a)The concept ¢)The concept | d)Deviance is
of ‘deviance’is | b) Deviance | of deviance can | normally
much broader | and crime very | be applied to | sanctioned by
than ‘crime’ often overlap | individuals and | law
groups
36 | 258. When a crime is committed by a person of respectability and high
social status are known as?
a)Blue  collar | b)White collar | c)Red  collar | d)All of the
crime crime crime above
37 | Who wrote the book ‘Delinquent Boys’?
a)Walter B | b)Dloward c)Lloyd E | d)Albert Cohen
Miller Ohlin
38 | 210. Which communities are categorized as economically vulnerable
groups in India?
a)Agricultural | b)Schedule ¢)Schedule d)All of the
labour caste tribes above
household
39 | What is the average calorie requirement in India in urban areas (per
person per day)?
a)2000 cal /|b)2100 cal /|c)2300 cal /|d)2400 cal /
person / day person / day person / day person / day
40 | According to Horton and Hunt, what does the term "social process"
refer to?
a) Modes of b) Ways of c¢) Repetitive d) All of the
interaction establishing forms of options
between social behavior in
individuals or | relationships social life
groups
41 | Match items in List — I with items in List — II and choose the correct

answer from the code given below :

List I

List II

interaction

A) Basic conditions of social

1. Conscious process, Personal
and

interaction
occurrence

Universal




2. Toleration, Conversion and
Rationalization
3.Social contact
communication

B) Cooperation

C) Assimilation and

D) Method of accommodation | 4. The complete merging of two

or more cultural groups into one

Codes;
a) A-3 b) A-3 c)A-2 d) A-2
B-1 B-2 B-3 B-3
C-4 C-4 C-1 C-4
D-2 D-1 D-4 D-1
42 | Identify the True statement from options below;
a) The potlatch | b) When a|c)Ralf d) According
is a ceremony | person occupies | Dahrendorfis | to, Sutherland,
where chiefs two or more | well known for | Woodword and
and leading roles with | his Maxwell.
families incompatible contributions of | Competition is
compete by role obligation, | critical theory. | a contest to
giving away or | it is known as obtain
destroying deviation. something
wealth to which does not
establish social exist in
status. quantity
sufficient to
meet the
demand.
43 | Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
A: Assertion: The concept of acculturation was coined in 1880 by
American geologist John Wesley Powel in report for the US Bureau of
Ethnology.
R: Reason: He defined it as the psychological changes induced in
people due to cross- cultural imitation, resulting from the interaction
with different cultures.
In the light of the above statements, choose the most appropriate answer
from the options given below :
a) BothAand R | b) BothAandR | c¢) A is true, but | d) A is false, but
true and R is the | true and Risnot | R is false R is true
correct a correct
explanation of | explanation of
A A
44 | Concept of 'Role playing' was introduced by ?
a) Durkhiem b) G.H. Mead |c) W.LThomas | d) Sigmund
Freud
45 | Match items in List — I with items in List — II and choose the correct

answer from the code given below:

List I List II




A Primary & Secondary 1. C.H.Cooley
B In-groups and out-groups 1. G.H. Mead
C Reference group 3. Robert Merton
D Group dynamics 4, Kurt lewis
E Sociometry 5. J.L. Moreno
Codes;
a)A-2 b) A-5 c)A-3 d) A-1
B-1 B-4 B-1 B-2
C-3 C-3 C-4 C-3
D-4 D-2 D-2 D-4
E-5 E-1 E-5 E-5
46 | Which of the following is a nuclear family?
a. A family in b. A family in | c. A family in | d. None of the
which one which all the | which only wife | above
husband, wife | brothers of the | and  husband
and their husband as well | live together.
children live as wives and
together. children live
together.
47 | is a form of marriage in which a man of lower caste marry
women of superior caste.
a. Anuloma b. Pratiloma c. Levirate d. Sororate
48 | The term “ethnocentrism” refers to-
a. The beliefin | b. Evaluating | c. The d. The belief in
racial and judging advocacy of cultural
superiority another culture | cultural relativism
based on one's | diversity
own cultural
norms
49 | "An enduring cultural structure that meets certain fundamental needs
of society and establishes social control™ is definition of
a) Religion b) Economic ¢) Social d) Political
system institutions system
50 | According to Durkhiem, what is “Totemism”?
a) Simplest and | b) Complex c) Abstract d) None of the
most basic from of from of religion | following
form of religion | relegion
51 | Which among the following is the indicator of open stratification

system?




a) Ethnicity c¢) Class d) Religion

b) Gender

52 | Jarawa are the indigenous people or Adivasi prominent in which part of
India?
a) Assam b) Mizoram ¢) Jharkhand d) Andaman
and Nicobar
Island
53 | Match items in List — I with items in List — II and choose the correct
answer from the code given below:
List I List I1
A) D.N. Dhanagare 1. The Remembered Village
B) Srinivas 2. Rural Sociology in India
C) Akshay R. Desai 3.Agrarian movement and
Gandhian politics
D) S.C. Dube 4 India's changing village
Codes:
a)A-3 b) A-3 c)A-2 d) A-4
B-1 B-1 B-3 B-1
C-4 C-2 C-1 C-3
D-2 D-4 D-4 D-2
54 | Choose the correct option;
a) According to | b) Park and ¢) According to | d) According to
Tonnies, Burgess the broken the
"society" pioneered the windows urbanization
(Gesellschaft) | ecological theory, visible | theory, rural
is primarily perspective in | signs of areas
based on urban disorder and experience a
organic sociology, neglect in a decrease in
solidarity, treating cities neighborhood, | population and
where as ecosystems | such as graffiti | economic
individuals are | with diverse or broken activity as
bound together | social groups in | windows, have | urbanization
by tradition and | distinct spatial | no impact on progresses.
collective zones. crime rates or
consciousness. community
well-being.
55 | Given below are two statements: one is labelled as Assertion A and the

other is labelled as Reason R

A: Assertion: Ritzer's theory of globalization emphasizes the
interconnectedness of local and global processes, highlighting the ways
in which global forces influence and shape local cultures and practices,
while also being adapted and modified by them

R: Reason: Ritzer's theory of globalization highlighting the ways in
which both spheres interact and influence each other in a constantly
evolving and interconnected world

In the light of the above statements, choose the most appropriate answer
from the options given below :

a) Both Aand R
true and R is the

b) Both A and R
true and R is not

¢) A is true, but
R is false

d) A s false, but
R is true
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correct
explanation of
A

a correct
explanation of
A

56 | What does social mobility refer to?
a) The ability to | b) The ability to | ¢) The ability to | d) The ability to
move to another | move up or | change political | switch
country down the social | systems economic

hierarchy systems

57 | Which theory examines social stratification on a micro-level by
focusing on everyday interactions
a) Structural- b) Conflict ¢) Symbolic d) World-
Functional Theory Interactionism | System Theory
Theory

58 | Process of Primary Socialization begins from
a) Infancy ‘ b) childhood ‘ ¢) adolescence ‘ d) adulthood

59 | Match List I with List II-

List I List II

A Theory of | 1. Family

Development of Self

B. Anticipatory ii. R.K. Merton

socialization

C. Primary  agent  of | iii. C.H. Cooley

socialization

D. Looking Glass Self Iv. G.H. Mead
Choose the correct match from the options given below:
a) A-i, B-ii, C- | b) A-ii, B-i, C- | ¢)A-iii, B-ii, C- | d)A-iv, B-ii, C-
iii, D-iv iii,D-iv iv, D-1 i, D-ii

60 | Who stated that Culture “is that complex whole which includes
knowledge, belief, art, law, morals, custom and other capabilities and
habits acquired by man as a member of society”?
a)Talcott b) W.F. Green | c¢) E.B.Tylor d) Timascheff
Parsons

61 | Given below are two statements: one is labelled as Assertion A and the

other is labelled as Reason R

Assertion (A): Metropolitan cities are dominated by large size slums.
Reason (R): There has been large scale migration of rural population
to urban centres with the growth of industries and job opportunities.

In the light of the above statements, choose the most appropriate answer

from the options

given below :

a) Both ‘A’ and
‘R’ are
individually

b) Both ‘A’ and
‘R’ are
individually

¢) ‘A’ is true but
‘R’ s false

d) ‘A’ is false
but ‘R’ is true
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true and ‘R’ is
the correct
explanation of
GA’

true but ‘R’ is
not the correct

explanation of
GA’

62 | Who has differentiated between material and non-material culture?
a) P. Sorokin | b) Ogburn \ c¢) T. Veblen | d) Hobhouse
63 | Given below are two statements, one is labelled as Assertion (A) and
the other as Reason (R):
Assertion (A): In a plural society minority groups often develop
mistrust of the majority.
Reason (R): Minority groups are frequent targets of prejudice and
discrimination.
Choose the correct answer from the given code:
(a) Both (A)|(b) Both (A) | (c) (A) is true, | (d) (A) is false,
and (R) are true | and (R) are true, | but (R) is false | but (R) is true
and (R) is the | but (R) is not
correct the correct
explanation of | explanation of
(A). (A).
64 | Which of the following statements are true?
A Modernization is the process of implementing new technologies
and ideas.
B. Dominant caste implies the caste that holds significant power
and influence over other castes.
C. The primary objective of affirmative action policies like
reservation for Dalits in India is to promote meritocracy.
D. The Corporate sector often experiences gender discrimination
in terms of wage gaps and promotion opportunities.
Choose the correct answer from the options given below:
a) Aand B | b) Cand D | c) AB,D |d) All  of
only only only these
65 | Match List — I with List — IT and mark the correct code given below:
List—1 List—II
(Authors) (Books)
A McKim Marriot I. India’s Village
B. M.N. Srinivas ii. Indian Village
C. B.R. Chauhan iii. Village India
D. S.C. Dube Iv. A Rajasthan Village

Choose the correct answer from the options given below:
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a) A-i, B-ii, C- | b) A-ii, B-iii, C- | ¢) A-iii, B-i, C- | d) A-iii, B-i, C-
iii, D-iv i, D-iv iv, D-ii iv, D-ii
66 | Who coined the term Unity in Diversity?
a)Mahatma b) Jawaharlal | c)Rabindranath | d)Sardar
Gandhi Nehru Tagore Vallabh Bai
Patel
67 | Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
Assertion (A): It is not sex but gender has been accepted as a form of
social stratification
Reason (R): Women are biologically not equal to men.
In the light of the above statements, choose the most appropriate answer
from the options given below :
a) (A) is false, | b) (A) is true, | ¢) Both (A) and | d) Both (A) and
but (R) is true. | but (R) is false | (R) are true, but | (R) are true and
(R) is not the | (R) is the
correct correct
explanation of | explanation of
(A). (A)
68 | Traditional Hindu society was divided into...... Varnas based on
occupation of an individual
a) Three | b) Four \ c) Five \ d) Seven
69 | Given below are two statements
Statement I: Some major concepts and approaches about social change
in India can be grouped as Sanskritisation and Westernization.
Statement II: The term Sanskritisation was used by M.N. Srinivas to
describe the process of structural transformation in the Indian social
structure.
In the light of the above statements, choose the most appropriate answer
from the options given below:
a) Both b) Both c) Statement [ | d) Statement [
statement I and | statement I and | is correct and | is incorrect and
statement II are | statement II are | Statement II is | Statement II is
correct incorrect incorrect correct
70 | Who, among the following, are associated with Indianisation of
Sociology?
a) G.S.Ghurye, | b) G.S.Ghurye, | ¢)G.S. Ghurye, | d)G.S. Ghurye,
A K. Saran, | T K.Oommen, | A.R.Desai, D.P. | T.K. Oommen,
D.P. Mukherjee | A.K. Saran Mukerjee A.R. Desai
71 | Poverty and are twin problem found in India
a)Unemployme | b) Child ¢) Crime d) Casteism
nt Labour
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72 | Given below are two statements — Assertion (A) and Justification (B).
Pick the right answer from the codes:
A: Assertion - The problem of ‘dowry deaths’ is typically prevalent
among the ‘emergent urban middle class’ in India.
B: Justification- The law of inheritance is discriminatory against
women in India.
In the light of the above statements, choose the most appropriate answer
from the options given below :
a) Both (A) and | b) (A) is true, | ¢) Both (A) and | d) (A) is true C
(B) are false but (B) is false | (B) are trueand | and (B) s
(B) is  not | correct
correct explanation of
explanation of | (A).
(A).
73 | Which among the following denotes positional change?
a) b) c) d) Social C
Modernisation | Westernisation | Sanskritisation | development
74 | Who wrote the book ‘Field Work and Field Workers’?
a) M.N.Srinivas | b) S.C. Dubey | ¢)T.B. d) G.S. Ghurye A
Bottomore
75 | Match the following; Answer
A History of Caste in India | i. S.V. Ketkar option
B. Caste, Class and Power | ii. M.N. Srinivas ()
C. Caste in Modern India | iii. Andre Betteille
and Other Essays
D. Annihilation of Caste iv. B.R. Ambedkar
Choose the correct answer from the options given below:
a) A-i, B-ii, C- | b) A-ii, B-i, C- | ¢) A-i ,B-iii ,C- | d) A-iv, B-iii, Answer
iii, D-iv iii, D-iv ii, D-iv C-ii, D-1
76 | Definite procedures or rules which people are expected to observe are
known as
a) Norms b) Values c) Institutions | d) Group
Behaviour
77 | Who suggested that God is society divinized?
a) Max Weber | b) E.E. Evans - | ¢) Auguste d) Emile
Pritchard Comte Durkheim
78 | “Sociology is the science of understanding of the meaning of social
action.” The proceeding statement was made by
a) Emile | b) Max Weber | c) Herbert | d) Auguste
Durkheim Spencer Comte
79 | Which of the following statements are true? Mark the correct answer

from the following codes :
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A. All change is development.

B. Early classical sociologists viewed development and change as
interchangeable/logically related terms.

C. According to modernization theorists, the end result of development
is prosperity and political stability.

D. Development refers to unplanned process of social change in
modern times.

a)Band C b) A,B, C c)Aand D d) Band D
80 | Given below are two statements: one is labelled as A: Assertion and
the other is labelled as B: Justification
A: Assertion
Townsend asserts that poverty can be defined objectively only in terms
of the concept of relative deprivation.
B: Justification
Society determines people’s needs, patterns of food consumption.
In the light of the above statements, choose the most appropriate answer
from the options given below :
a) Assertion (A) | b) Both | ¢) Both | d) Both
Is true and Assertion  (A) | Assertion  (A) | Assertion (A)
Justification and and and
(B) is false. Justification Justification Justification
(B) are false. (B) are true and | (B) are true, but
(B) is the (B) is not the
correct correct
explanation of | explanation of
(A). (A).
81 | Which of the following is NOT a feature of community?
a) Specific | b)  Historical | ¢) A collection | d) Small
locality heritage of people | patches of
waiting at bus | localities
station. spread over
many areas
82 | The classification of groups into monad, dyad and triad is attributed to:
a) PA. Sorokin | b) G. Simmel | ¢) W.G. Sumner | d) G. Hasen
83 | In an Indian family the parents prepare their daughters to be a good
wife/daughter in her in-laws home, this is an example of
a) Adult | b) Re- | ¢) Socialization | d) Anticipatory
Socialization socialization Socialization
84 | Match items in List — I with items in List — II and choose the correct

answer from the code given below :

List [ List II

A.) Ramkrishna Mukherjee 1. Ideology and Theory in Indian
Sociology

B) Yogendra Singh ii.  Sociology of Indian
Sociology

C) D.N. Dhangare iii. An Anthropologist among
Historian and other
Essays
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D) B.S. Cohen iv. Themes and Perspectives in
Indian Sociology

Codes;
a)A- ii, B-iii, C- | b) A-i, B-ii, C- | ¢) A- ii, B-i, C- | d) A- iv, B- iii,
iv, D- 1 iv, D-iii iv, D- iii C-i, D-1i
85 | Which is NOT a form of social stratification?
a) Religion b) Class c) Caste d) Personality
traits
86 | In which of these communities did Durkheim examine Totemism?
a) Red Indian b)  Trobriand | ¢) Arunta Tribe | d) African
Islanders Gypsies
87 | Theory and Research are related to each other, because
A) Theory guides research
B) Theory is an outcome of research
Which of the following combinations are correct?
a) A is true but | b) A is false but | ¢) A and B both | d) A and B both
B is false B is true are true are false
88 | A rule or standard of behaviour defined by shared expectations of two
or more people regarding what behaviour is considered as socially
acceptable, is referred to as;
a) Custom ‘ b) Value ‘ c) Tradition ‘ d) Norm
89 | Which of the following is NOT an essential attribute of the State?
a) Territory | b) Government \ ¢) Sovereignty \ d) Civil Society
90 | Inter- caste marriage is an exampleof .............. marriage
a) Exogamous | b) Polygamy \ ¢) Endogamous \ d) Polyandry
91 | Which of the following are the two categories of poverty identified by
the United Nations Development Programme?
a) Income and | b) Income and | ¢) Rural and | d) Rural and
human poverty | relative poverty | absolute relative poverty
poverty
92 | Who among the following argued that deviance results not from
‘pathological personalities’ but from the culture and structure of society
itself?
a) A.K. Cohen | b) R.K. Merton \ c) E.M. Lemert \ d) John Mack
93 | Who among the following was the first sociologist to systematically
study ‘White-Collar Crime’?
a) M.B. Clinard | b) W.G. Carson | c) Robert Parks | d) E.H.
Sutherland
94 | In which year, ‘The Narcotic Drug and Psychotropic Substance Act’
was enacted?
a) 1987 | b) 1989 | ¢) 1985 | d) 1998
95 | Given below are two statements, one is labelled as Assertion (A) and

other as Reason (R).

A: Assertion

Majority of the developed states in India are contiguous to each other.
Reason (R): They are also more urbanized than other states.

Select the correct answer from the codes given below:

a) Both (A) and | b) Both (A) and | ¢) (A) is true, | d) (A) is false,
(R) are true and | (R) are true, but | but (R) is false. | but (R) is true.
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(R) 1is correct
explanation of
(A).

(R) is not the
correct

explanation of
A)

96 | What is not one of the major causes of income inequality in India? B
a) Unequal b) Lack of | ¢) Gap between | d) Increase in
distribution of | fertile land rich and poor population
land
97 | Who has given the concept of ‘Born Criminal’ ? Lombroso
a) Gillin | b) Lombroso | ¢) Tarde | d) Gillin b
98 | ‘Significant other’ and ‘generalized other’ are concepts developed by George
Herbert
Mead
a) Peter Berger | b) George ¢) Erving d) Harold b
Herbert Mead | Goffman Garfinkel
99 | Modern societies, including India , rely mostly on which type of | Rational-
authority? legal
authority
a) Charismatic | b) Traditional | c) Rational- | d) No authority
authority authority legal authority ¢
100 | Sanskritization as an explanation for social change in India, embodies a
a) Cultural b)  Structural | ¢) Evolutionary | d)Ethnomethod
Approach approach Approach ological Cultural
Approach
approach
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